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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 In which state was the first zero-based budgeting technique adopted in India?

A Tamil Nadu

B Maharashtra

c Karnataka

D Andhra Pradesh

Q.No: 2 Who has released the book ‘Odisha Itihaas’ written by Hare Krushna Mehtab?

A Narendra Modi

B Smriti Irani

Cc Ramnath Kovind
D Manmohan Singh

Q.No: 3 Which Indian ruler was defeated by Alexander in the battle of Jhelum?

A Samudragupta
B Dhananand

C Chandragupta |
D Porus

Q.No: 4 India’ s real GDP to record how much percentage growth in FY2021-22?
A 10.7%
15.0%
1.0%

o 0O w

12.08%

_______ is the only perennial river of the state, which enters Rajasthan at
Q.No: 5 Chaurasigarh, after originating from the northern slopes of the Vindhya

Range.
A Chambal dae
B Kakni Eaci]
Cc Banas A
D Kali reft

Q.No: 6 Banks create credit

A On the basis of their total assets
B On the basis of their securities
C By printing money

D On the basis of deposits

TRd # GaHH foh 750 § Y STUIRA ToIC dehe1eh i SIUHTAT T 412
afemTg

HERTY
e

arigrrar

R FW Agd g il geass ‘sifesn sfagra’ o1 fame fohem o 82
g W

wfa Gt

TS i

wHiET Rig

fRichex = giem & gg # forw sTeltg 2meres @t oRifSa ok am?
Rk

AT

I UAH

uRe

forr anf 2021-22 # WRa & At SHEi fhart ofaera gfe oot wfi?
10.7%

15.0%

11.0%

12.08%

I Y YA TREARA Y &, St fen 301 & I ool @ Pehere IRedire F o F mawr et 1
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Q.No: 7 Bhairav Raga is sung during which of the following time of the day?

A Evening

B Early morning
Cc Afternoon

D Midnight

Q.No: 8 Kirana Gharana is associated with which of the following music traditions?

A Khayal
B Karnatic
Cc Tappa
D Thumari
QNo:9 ____ , a Sufi poet, contributed to the evolution of Qawwali.
A Al-Mutanabbi
Al-Biruni
Amir Khusro
Al-Zahrawi

Q.No: 10 Who is the current chairperson of the National Human Rights Commission?

A Arun Kumar Mishra
B K. Sivan

Cc H. L. Dattu

D Sanjay Yadav

Q.No: 11 Which of the following rivers is home to fresh water dolphins?

A Sabarmati
B Ganga

Cc Narmada
D Godavari

Q.No: 12 Dhrupad reached its zenith in the court of

A Akbar

B Shah Jahan
C Humayun
D Aurangzeb

The idea of a storage dam across Beas River at Pong was first

GET IT ON

Google Play

e W A & Fr=fofed § @ frg gmg mmar s 82

AH

forr R ffafaa & @ fog wrfta wRowr @ weifda 872

oo gt @ __ 3 et & e # girer feam

TETT AFATRR SIENT 3 AT SieAs A 82
S0 FHR s
&, Ram=

QI.G. &
o gred

frfor@e # & i <6 7 arotr ot Y SR S g w g 2

RN |

US ___ % RaR H Syt wRA R W ugam

SchaR

o

SMESIET
5
Eicarr)

Q.No: 13 mooted by Mr. C.E. Blaker of the Punjab PWD Irrigation Branch in 9T & =91 7€} U= Qe HRUT &ter ol faraR ugelt IR Usiar PWD Riang simar & oft o 3. seiaw gr foher ol # ar mar ar?

which year?
A 1987 1987
B 1956 1956
C 1934 1934
D 1926 1926

Q.No: 14 Inwhich of the following years, battle of Plassey was fought?

el Al g e & @ e af et mar ar?
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A 1757 1757
B 1764 1764
Cc 1761 1761

D 1756 1756

Q.No: 15 Early Nationalists supported whom for the Presidency of Congress in Surat session? WRf¥e wganieal 3 gxa ifodem # i &t sreaern & g e g frar?

A Lala Lajpat Rai ATl SATeidd T
B Dadabhai Naoroji TS HRISh

C Madan Mohan Malviya e g Ay
D Dr. Ras Behari Ghosh =X, 79 g gty

Begum Akhtar is one of the most popular singers of which style of Hindustani e o gy 2 fifte 1 ferr dicft 1 @ ety off & 3 g 7

Q:Na: 10 Classical Music?

A Tarana R

B Thumri s

C Tappa e

D Khayal =

Q.No: 17 Which Peshwa ruler signed the 'Treaty of Bassein' in 1802 with the British? R GeraT *MEe 3 1802 # S & Ty ‘IR A WY R gxaner vy 4
A Baji Rao Il Eicikic]]

B Madhaw Rao T AT

C Narayan Rao ARTAT A

D Balaji Vishwanath arerrsit T

Q.No: 18 :;V:;zr;;:;f;e following personality’ s autobiography was translated into thirteen i & 3 R aifh 6 TR a1 3G AToTal & o R T e
A Dr APJ Abdul Kalam <1 quist srege wew

B Indira Gandhi i mish

(o} Rajeev Gandhi Trofta mish

D Atal Bihari Vajpayee sreet fagrét arerdedt

Q.No: 19 Who refused to allow Rani Laxmi Bai's son to succeed the throne? ra 3t AeHieS & O Y ASTTET R e & HAT e foar am?
A Mangal Pandey i

B Tantia Tope difear @

C Savitribai Phule wfeftars ot

D Lord Dalhousie s egiolt

Q.No: 20 When was the Rural Infrastructure Development Fund established? TTYOT ST IR Rl Y e e i TE 2

A 1971-72 1971-72

B 1945-46 1945-46

C 1995-96 1995-96

D 2000-01 2000-01

Q.No: 21 What is the Sl unit of Frequency? TRy T S| ATE T §?

A Hertz &

B Seconds Vs

C Meter ez

D Decibel Haae

Page- 3


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

At ot A :
Match the following :
1 | YoreamT A m

1 | Desert A | Mosses and lichens ?I'é'?iﬁ?
Q.No: 22 .

2 | Tundra B | Dense and evergreen 2| g3 B | go sl wqraer

3 | Equatorial forest C | Thormns and scrubs 3 Wﬂ' c )

a Fie AR EFT
A 1A 2B,3.C 1.A,2.B,3.C
B 1.B,2.A 3.C 1.B,2.A,3.C
C 1.C,2.A,3B 1.C,2.A,3B
D 1A, 2.C,3.B 1A,2.C,3.B
et = fBemg:
Match the following:
1| Aeiprersesia | a

1 Monocotyledons | a Nourishment T
Qa2 23 2 Cotyledons b Seeds with one cotyledon 2 EICE] b | e TS arerder

3 | Dicotyledons c Seeds with two cotyledons 3 m ¢ |ardegEaede
A 1-c, 2-b, 3-a 1-c, 2-b, 3-a
B 1-a, 2-¢,3-b 1-a,2-¢,3-b
C 1-a, 2-¢, 3-b 1-a, 2-¢, 3-b
D 1-b, 2-a, 3-¢ 1-b, 2-a, 3-¢
Q.No: 24 Which juice has an important role in the digestion of fats? T # fraeh! mewayul gfiee gt 82
A Hydrosulphate acid gIEgIuwhe TR
B Pancreatic juice mé
C Bile juice =
D Hydrochloric acid gEgiadiiRG T
Q.No: 25 The father of green revolution is: gia whifa & ST &
A Dalton Bl
B Falguni WL
[o] M.S swaminathan o o @
D Norman borlaug ST IR

Which of the following is made of whipped egg whites and either sugar

Q:Na: 26 or corn starch and is used in various desserts? Frfa 8 9 <0 af@ 20 S o et o T e e S &l R e 2 el e, e 87
A Whipped cream SR

B Bread irid

(o] Meringue Far i

D None Fé TE

Q.No: 27 Which one of the following possesses vascular tissues? frafofaa & @ forad dagt aw gid 87

A mango HH

B Bryophyta SRATRIZET

c lichen GO

D thallophyte Aeitrrge
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Directions: The following question consists of two statements one labeled as
“Assertion” and the other as “Reason” . You have to examine these two fEar: FeafafEa na F < wue & e @ uF ot arfSsmea" ofk gER &) "R & w0 § Jaa e mr 21
statements carefully and select the correct answer to the question from the et 59 <A1 YAl Y wraaiade S welt & ok Ry g Reedt § @ v o g IR g )

. i ti #
Q:No: 28" Gven eptiens sifmerT (A) : R ot afeRer 3 s o aRe it &1

Assertion(A):Solar energy is eco-friendly and green energy. )
HROT (R) : TR St e § fhedt GehR ot srgwor =gt it 21

Reason(R):Solar energy generation does not create any type of pollution.

A Both A and R are false A 3R R &1 srered §
B Ais false but R is true. A 3 @ Af R 9= 81
C Aiis true but R is false. A9 ¢ |f R o/ 81
D Both A and R are true ARReEAT a &
QNo:29 __ is caused as the focusing power of the eye lens decreases with age. I & Y AR F AT R RFg FA P AT FAGAF AR ____ gar gl
A Nearsightedness srezaffar
B Myopia wraifar
C Hypermetropia gETAg T
D Presbyopia STt
QNo:30 A________ is used for petrol. Uetet & fog __ I e srar @1
A Cetane rating Fice kit |
B Methane v
C Octane rating SifeR= e
D Peat i
Direction: The following question consists of two statements one labeled as
“Assertion” and the other as “Reason” . You have to examine these two
statements carefully and select the correct answer to the question from the e Aafafea a7 & & § B @ oo & "sifee ok g & "FRU & w9 7 e faar a2
given options. SIS § Gl BT B FraeTHgER Sie we & SR g Mg fened! § & e o 9g) SR g 8
Hla: 21 Assertion: (A) Members have moist skin covers the body, breathe through gills  SifSeer: (Q) Fe=al &t T &@=1 AR &t gad! 8, Ths 8 Ji adt ¢ ok v, 38 T art g 1
and have fins, cold blooded. e (1) SR R Rdvard R & et 61 #1
Reason: (R) The mentioned characteristic features are of members of
Amphibia.
A (R) is true explanation of (A). (R) (A) & W&t e g1
B (R) is the wrong explanation of the assertion (A). (R) s (A) 6l era =area g1
c (A) is true and (R) is false (A) 5 & 3R (R) e
D (R) is true and (A) is false (R) ¥ g ok (A) o1 &
Q.No: 32 The domain of water is referred as: STt & &5 S gl ST &
A Ocean qqg
B Lithosphere RIHSH
Cc Hydrosphere SEHSA
D Biosphere Sta &
Q.No: 33 The strength of the force is expressed by ________ . e BT AR ________ ERT &<h I S gl
A Direction fam
B Displacement ==
c Magnitude aRamr (@)
D Distance covered aa i mf gft
Q.No: 34 burns, but does not melt. STeraT &, Afeh fiererar 78t 81
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Q.No: 35

o 0O w >

Q.No: 36

g 0O w >

Q.No: 37

Q.No: 38

o 0 W >

Q.No: 39

eY

Synthetic wool
Compostable product
Silk

Disposable product

for future

We can focus on recycling and reuse of resources to retain our
generations.

Green wealth
White wealth
Yellow wealth

Red wealth

In the following question, a series of letters is given. Some letters have been removed
in these series, and they are in the options given below the series in the same order as
they should be. Study the given series carefully out of the four alternatives given
below, and find the one that best fits in place of the missing letter of the series.

Select the correct mirror image of the given figure when the mirror is placed to the
right of the figure?

A man starts from his home and walks 16 km to the north and turns right and walk 63
km. Then he turns 135 degrees in the clockwise direction and walks 70 km. How far is
he from his home?

8km
10 km
5km
T km

Select the Lettered pair that has the same relationship as given in the question:

GET IT ON

Google Play

RidfRes 3
@15 ahg I

Risiae 3=

&R et et & o erwt
T FHfd X gepat 1
gRa =

[ihg o

Lot

I §TG T & forg Femet & greeRoT ofik O i W)

GG C

FrfafRd v & orert B oo sjen & 7 &1 29 simansi d go sier g Ry Mg E, ok 3 e &
2 Ry g freredt # S=ft v A € S 3= g wnfew R feg g AR femedt # & & i sjen o
T AT T 3R 3@l & et &Rt & WM R T5 e @it ot Fed o 8t

Q7 gy A et qior iy A1 T R i gdor Y sl it @ o wfda fovar e 81

e ST} ST TR & ToAT Y[ YT & SR IR Y 6k 16 fmef) Treren & ok a1d g @ ofk 63 famf
=ere &1 R g afdomad feam & 135 feuft ggar & ofk 70 fneht e 81 a6 e R @ et R 87
8 fft

10 famft

5 foeft

1 fft

I AR T I IO P (Ol I8y U § Ry g I\ w9y 9 &
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Cloth : Texture DT : SHET

A Silk : Cloth 9 : UST

B Ornaments : Gold ST : =T

(o] Wood : Grains weRgt 1 i)

D Body : Weigh SRR : ag=
Which of th(? optlf)ns is the exact mirror image of the given figure when the mirror is TR o R o G aor oY @ o7 o Y ard o it R ST 22
held at the right side?

} X
X w M
Q.No: 40 |wW M E
E N E £ N ¥
v
w M w M
A
N E N E
M w " w
B
M 3 M 3
W Y] w M
Cc
E E
MW MW
D
4l £ [0l E
. .. Aman travels towards north to go to his office. He turned to the left and then turned to ek @afzh 3= ehrafera ST & fAIg IR 61 &R ST 81 a8 ardl 3R g1 3R iR amlf afik 781 ok

Q.No: #1 . X . . . . ;
the right and again turned to the right. Which way is he looking? Rt @ grff siiz T2 T e ok 3T w1 82

A West uffw

B East o

c North IW

D South Zfaor

In each of the following questions, a statement followed by two conclusions is AR A < Frepst 3
given. You have to select a conclusion that follows from the statement. A v d,a & S T e fea s 81 T F SR A
aret fseRt &1 T AT g

Statement:
T

] The best evidence of India’ s glorious past is the growing popularity of yoga in the .
Q.No: 42 g . ¢ i 7S T AR & TRELATA Fcilet Tl Ford 3es] Tl Ufs # AT &Y agal A 81

west.,
Conclusions: Fremt:
I. Gym and aerobics are more popular in India. 1. fom ok Riferery wRa & a1fdves witenfir &1
Il. Yoga is not popular in India. Il T 7R3 A SHenfir e 81
A neither conclusion (I) nor (ll) follows T &t fFrewd () & (1) SrgeRoT et &
B only conclusion (Il) follows haet fAsemd (1) SrgeRoT et @
(o] either conclusion (I) or (Il) follows ar &t fAswe (1) 4T () SrgeReT AT @
D only conclusion (l) follows hae frd (1) SrgRoT et &
s:il:e;:st:Zésezti;nt:]r;aftiriztrs::ed to the third word in the same way as the second 3 R 1 T R o R 21 & Tt e S & SR g e et e & W B
Q.No: 43
Cape Town : South Africa:: Doha:? 5 ST SR = 2l
A Qatar HR
Yemen aiq
c Iran KA
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Q.No: 44

o o0 w >

Q.No: 45

o 0 W >

Q.No: 46

o 0O W »

Q.No: 47

o 0O W >

Q.No: 48

Kuwait

Given question has main statement followed by four statements. Choose the ordered
pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

A family is either joint or nuclear
A. The family is joint

B. The family is not joint

C. The family is nuclear

D. The family is not nuclear

BD

AB

DA

CA

Pointing to a boy, Mamta said, "he is the only son of my father-in-law's only child."
How is the boy related to Mamta?

Father-in-law
Daughter
Father

Son

Manish after walking 15 km towards east turns 135 degree in the clockwise
direction and walks 17 km. How far is he from his starting position?

9 km
10 km
8 km
12km

In the following question, choose the pair/group of words that shows the same
relationship as given at the top of every pair/group.

Bird : Wings : Human : ?
Nose

Mouth

Foot

Eye

Choose the correct mirror image of this combination-
CFDYDTDHYF4653454TYFCHJ786.

ASTLHOTY T2 220 TYHATAYAID
OSVTHOTYThe Lot TYHATAAY O
QBTIHOTYTEE 2R TYHATAYIAD
OVIHDIY TR LEATYHATAY DT

GET IT ON

Google Play

Ry 7g us1 A A U SR I 91 TR HUA & | FHUA! I HiAd G G, STe1 Uedl B T aad
TR FHUF A 8, 3R Q) T drfchen T 4 4= e § 91 &

Qeh ORI &1 <t T T Gehel g1l &
A. TRER T §

B. uRaR @ el &

C. uRar el §

D. IRER e TE &

BD

AB

DA

CA

Tk TT5eh ot 37 SURT & §T, T 7 T, "I8 TR TR I GHATT T T Sehelal JeT 61" TSeAT
AHAT ¥ R R Tefda 22

¥ 984

7w g Y 3k 15 St Tom & are agt Y feam F 135 ferft ggan @ ofv 17 faft o 21
Ig AT IR TIF § Rl ® 82

9 foft
10 faft
8 foredt
12 ot

39 Rrehed &1 T &R St dTeR 2res § It R Halfdd § S g8)T 3 Usel I 8 Haifdd 81

gl g AFg 2 ?

9 TAIoH it TE aUur i gH- CFDYDTDHYF4653454TYFCHJ786
VLHOIYTheLe2FYHATAYTID
TUHDTYThe 2L TYHATAA YO
08TIHOTY T2 keZab TYHATTYIAD
JBVLHDTY T2 L2 TYHATAYADT

Q.No: 49 which of the options is the exact mirror image of the given figure when the mirror is @7 T farerea & ¢ smepfer &7 Tt aor ®fY & 1 qufor ot o1 ik wenfow R San 82

held at the right side?

v

oAl
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Q.No: 50

o O W >

Q.No: 51

o o0 w >

Q.No: 52

o o0 m >

Q.No: 53

nJ

GET IT ON

Google Play

s

Select the letter-cluster that can replace the question mark (?) in the following series.

CXB, HUI, MRP, ROW, ?
WLD

Given question has main statement followed by four statements. Choose the ordered
pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The system is dependent on either the court or the legislature
A. The system is dependent on the court

B. The system is not dependent on the court

C. The system is dependent on the legislature

D. The system is not dependent on the legislature

BD

AC

DA

AB

In the following question, a series of letters is given. Some letters have been removed
in these series, and they are in the options given below the series in the same order as
they should be. Study the given series carefully out of the four alternatives given
below, and find the one that best fits in place of the missing letter of the series.

abb_a_baa_baa_ba
bcca
abbb
cbba

bcac

Select the option that is related to the third word in the same way as the second pair is
related to the first pair.

Chemistry : Science :: Algebra : ?
Geography
English

SAR

]
f

v jj v

A N b
v v
N A& DA
\Z
N A

(<| 4
> A

frafafa sjaen # 39 s1eR-THg & 997 & st v Rig (?) & wfawnfia &= ae@ar g1
CXB, HUI, MRP, ROW, ?

WLD

VKC

WLZ

VKD

g g w1 7 HReT U 3R SEH 916 IR U § | FUHT B HAd G I, STET UgH B Fl aread
TR AU A g, 3R 3 A difeher T 4 G FYH A G &1

AT AT dt rTerd a7 faenflenr w Rk §
A. Rrew =t w PR giar @

B. Rren =amarerd W FfRk =8 gt &

C. e Rurfer w feR giar &

D. faeew Rl w feR & gtar &

BD

AC

DA
AB

frfefRa wer & a1er 1 goh gjaen & 7 81 37 sikgensil # 3w seR g1 R E, ofR I g &
A g g fement & Seft e A & S 3 @ g A2 g g TR feredt § @ § i sjaen @
e ST R SR SjRae & g S1eRl & W W a5 ey @IS St qed Iug gl

abb_a_baabaaba

bcca
abbb
cbba

bcac

39 fachen 1 957 R St R 2reg § I v Helfda & S g@w g vge g @ Haifda 81
g R : e = fiemfor : 2

agie
aifrsft
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Q.No: 54

o 0 W >

Q.No: 55

Q.No: 56

o 0O @ >

Q.No: 57

o 0 W >

Q.No: 58

History gfagra
Mathematics nfora

A person travels 6 km to east, then 4 km towards north, then again 3 km to east, then e @afts 6 for. it gdf &t o, fRe 4 6. IR & ofR, R 3 .7 o &t ok, f 5 fon.+ft <fayor-

5 km towards south-west. How far he may be from his starting point? iR &I SR AT e §1 T8 T IR foig & et g 32
10 km 10 fr.sft

13 km 13 fr.A

6km 6 for.ft

1 km 1 fRaf

Select the correct mirror image of the given figure when the mirror is placed on the :
right of the Figure. & i el Y T qor SfY @ T W T Sor @t spfa i arE ek vl R S 21

Nl MY

Divide Rs.118445
between Anu and
Tanu so that Anu's
share at the end of
9 years is equal to

Tanu's share atihe oo he oo 8 dfver 118445 T 3t R o2 s 9 o 3 ofe & org o e 11 e & of & 7 3 R & IR ), Ty o7 179 WY ok Y 2 R 7O 6 o < &1

end of 11 yeAars, 2 o SR R &
compound interest

being calculated
at 17% per annum.
Then their
respective shares
are:

Rs.60000, Rs.58445 Rs.60000, Rs.58445
Rs.68445, Rs.50000 Rs.68445, Rs.50000
Rs.63445, Rs.55000 Rs.63445, Rs.55000
Rs.70945, Rs.47500 Rs.70945, Rs.47500

Ram's family has five member. each member of family drink 500m! of milk. Find sum 3 & uRaR # uia wer &1 uRaRr &1 &2 9ewg 500 el g fiar 81 3m & uRar grr 3uah g g

of milk used by Ram's family? 4 T ART 1 FfSg?
1.6 liters 1.6 fier
1.5 liters 1.5z
2.5 liters 2.5 e
3.5 liters 35w

Price of a Refrigerator is decreased by 25% due to which its sale is increased by 40%, Teh IDheikex Y HAd 25% oW 1 STt & Forech st 3adh! farhl 40% 9 ST 8, ot Iorea &
then find the percentage increase in revenue. ufasr gie 7 Al
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o 0 W >

Q.No: 59

o O w

Q.No: 60

o 0 W >

Q.No: 61

O O W

Q.No: 62

Q.No: 63

o O W

Q.No: 64

o 0O w >

10%
6%
15%
5%

If CP is Rs 750 and SP is Rs 200. Find out the gain percentage.

20%
15%
30%
40%

If a sum amounts to Rs.2,190 in
four years and Rs.2,409 in five
years at compound interest,
when the interest is
compounded yearly, then the
annual rate of interest is:

9% 9%
1% Nn%
10% 10%
8% 8%

Find the percentage of loss when cost price is 4000 and selling price is 200.

65%
85%
95%
100%

A trader marks his article 20% more than the cost price. How much discount he

should offer to earn a profit of 5%7?

Find the number whose 12.5 %is 64.

640
412
480
512

Rs.40,000 amounts to Rs.44,100 in 2 years time when compounded annually then

find of the rate of interest.
4%

5%

10%

8%

GET IT ON

Google Play

10%
6%
15%
5%

afe e 7w 750 T 3R R gew 900 Fud § & @ nfasa w1 HifSm
20%
15%
30%
40%

afe K A TG T W, 59 AT afiier T & IS gar 2, at IR auf # Rs. 2,190 3R ufa awf & Rs. 2,409 & St 8, &t = it arfifes & @@ ghfi?

F1 1 wfderd T FIRY ST T 5o 4000 2 i fmma w9 200 81
65%
85%
95%
100%

Yo ATARY 3T I 1 AT 5ed F 20% i sifthd et &1 5% a1 an SifSid et & g 38
forarft e &t =gy

3%}
iR
=

g TOHT 1T o Iotep foTdent 12.5% 64 B

640
412
480
512

%.40,000 Hr I 2 af & I F <.
44,100 % Uga STl & ST Tehgfes sarst i oM a1fiies gt € o =St R ;e R

4%
5%
10%
8%
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Q.No: 65

g o w >

Q.No: 66

O O w

Q.No: 67

o 0 w >

Q.No: 68

o O w >

Q.No: 69

o 0O w >

Q.No: 70

o 0O mw >

eY

What sum will amount to Rs. 6890 in 12 months, if the rate of interest is 12% per
annum, compounded half-yearly?

Rs.2456.8901
Rs.9890.8765
Rs.3476.7501
Rs.6132.075

40% of a number is more than 20% of 650 by 190. Find the number.
900
800
700
600

A type 1 whisky has 40% alcohol and type 2 whisky has 55% alcohol. In what ratio they
should mix together to make a cocktail of 48% of alcohol?

5:7
1:2
7:8
4:5

GET IT ON

Google Play

e sgeter, 12 W # 12% ufd af Iorgfl et i ax &, St srefariiies w0 & Saifea gtan g,
6890 TUAT g STY?

Rs.2456.8901
Rs.9890.8765
Rs.3476.7501

Rs.6132.075

fERet T2 T 40%, 190 & 20% 9 190 Sifdres &1 I 7a g
900
800
700
600

15T 1 fRER & 40% Sicehige giar € 3R 2157 2 fREh! § 55% Sichige g1 &1 48% STeehigat BT
Hicheet T & (oY I foher srgurd o Ges T A =nfgg?

5:7
1:2
7:8
4:5

Shiv paid Rs 50 per Kg for 20 Kg of rice and Rs 40 per Kg for 25 Kg of wheat. He 1@ % 20 féreit =mae & forg 50 w0t nifey et oflR 25 foreft A & forg 40 w0t ufy faseit &t ogmam fomam

sold 10 Kg of rice for a 25% profit. Half of the remaining rice sold at 10% loss,
while the other half sold at 20% profit. He made total 15% profit on wheat sales.

Determine his overall percentage of profit.
15% 15%
16% 16%
14% 14%

18% 18%

Simplify:

317-124 + 4+ 78 = 13 +6(3-8)

254
258
226
262

If the supply of iPhone was decreased by 5% and the demand was increased by 15%,
then what was the effect on the total sale.

Increase of 8.25%
Increase of 10%
Increase of 9.25%

Increase of 9%

Find the missing term.

(93]
19

s |

I 25% @1 TR 10 fowum =raret sl
YT TTET T ST 10% BT TR <=7 71T, STalfeR /g SMer 20% 19 WR &= |
I g A FrhY R T 15% 19 FHRT IR T A1 A AR T 1@ AR

T BT

317124 +4+78 + 13 +6(3-8)
254

258

226
262

af o - T Y amgfef & 5% Y et € T ok Wi 15% 6 gy 8 1, dt et et R woma

sl
8.25% Hr i
10% $r gz
9.25% M
9% Fr i
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Q.No: 72
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Q.No: 73

o 0O w

Q.No: 74

o 0O W >

Q.No: 75

o 0O w >

Q.No: 76

o 0O W >

Q.No: 77
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Google Play

A series is given, with one term missing. Choose the correct alternative from the given frafei@e wsr & ge srgenw fam man & Orad ok ue g €)1 g g faeheat § @ a5 wdt Reew gy

ones that will complete the series.

BDF, CFI, DHL, ?
EJO
CJM
EML
EMI

If BLACKSMITH' is coded as 'CNBELUNKUJ', then 'CHILDREN' is coded as-
DJJNETEP
DJJNETFP
DIJMESFO
DJINETEP

Which one of the given responses would be a meaningful order of the following
words?

1. Nation
2. Village
3. Taluk

4. District
5. State
13,5, 4,2
123,45
2,3,4,51
2,3,4,1,5

Which two signs and numbers should be interchanged in the following equation to
make it correct?

8+6+3x%x12-2=12
-and+ 3and2
+and+ 8and 3
+and x, 6 and12
-and x, 6 and12

it STIERH Y O AR

BDF, CFI, DHL, ?
EJO

CJM

EML

EMI

af 'BLACKSMITH' &7 @IS 'CNBELUNKUJ' &, &t 'CHILDREN' &I &S T gim?
DJJNETEP

DJJNETFP

DIJMESFO

DJINETEP

et feedt & @ @ -1 feea 1= Ry gy weal & aries wm & i 82
1.

2. g

3. TR

4. fem

5. 10

1.3.6,4,2
1.2,3,4,5
2,3,4,51
2,3,4,1.5

Fafafa afiexo & gt & & o e § Righ o1 Teersit ot smaw & sear ST @fgy?
8+6+3%x12-2=12

- 3R+ 3 ek 2

+ 3R+, 8 3k 3

+ 3R x, 6 3R 12

- 3R %, 6 3R 12

In a code language, INFORMATIVE is written as ROFNILEVITA. How will SUPERFICIAL {3t ge +mmT #, INFORMATIVE @ ROFNILEVITA forar s 21

be written as in that language?
REPUSGLAICI
USEPRFICAIL
LAICIGREPUS
REPUSELAICI

Find the missing term.

3t e amor § SUPERFICIAL &t it forar smgm?
REPUSGLAICI
USEPRFICAIL
LAICIGREPUS
REPUSELAICI

qw U 7 Ffo|
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Q.No: 78

o O wm >

Q.No: 79

o O W

Q.No: 80

o O w

Q.No: 81

o 0O W r

Q.No: 82

eY

44 15
78 34 84 65
52 ?
30
42
75
35

Six movies are telecast on six consecutive days of the week, starting from Monday.
Rambo is telecast after Diago. Noorie is telecast between Diago and Akira. Blade is
telecast immediately after Hungaama but before Akira. Which movie is telecast on
the Friday?

Noorie
Akira
Blade

Diago

If A=1, CAT = 60, then MAN =?
182

27

90

180

If MOBILITY is coded as 46293927, then EXAMINATION is coded as:
56149512965
57159413955
45038401854
67250623076

In the question given below, some statements are given followed by few conclusions.
You have to consider the statements to be true even they seem to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any
follow from the given statements.

Statements:

All fashionable are addicts.

All addicts are noteworthy.
Conclusions:

I. No noteworthy is fashionable.

IIl. Some noteworthy are fashionable.
both conclusion | and Il follow

either conclusion | or Il follows

only conclusions Il follows

only conclusion | follows

On the seven members panel sitting in arow ‘A’ is to immediate left of ‘B’ , but
on the immediate right of ‘D’ . ‘Q’ isonthe rightof ‘A’ butis on the left of

‘S’ ,and ‘T’ isontheleftof ‘Y’ whoistotheleftof ‘D’ .Find the member
sitting in the middle.

A

GET IT ON

Google Play

44 15
78 34 84 65
52 ?
30
42
75
35

IR & Y Gl YeTs & PR 35 A § o feer a1 waror fyar sar g1
it & arg Yt o1 wERoT gtat &1 o g A ofR srhRT & ffe gt &1
BT & gid a1 Afch 3R & Ugel 1S ol HRIRYT AT ST §1 YRaR i -
Y Rhew o1 yHROT gt 22

ks
v
wie
famit

afd A=1,CAT =608 @ MAN =7
182
27
90
180

afe MOBILITY & e 46293927 & ad, EXAMINATION & e & -
56149512965
57159413955
45038401854
67250623076

12 fRu 1q vy F, Fo FuA R 39 a1 oo e g g §1 suel wuAl A g AR g, v @t
T 14 aedt @ 2 udita g g1 simuht a8 a9 e & o Ry g et § @ @l @, e A
&, g g e T SR Rt 8

T
goft heReer A E

goft 79 Seeleg §1

fFrsre:

I. g IeeRET e A8t 81

II. T Ieera-a tharead &

e | oz Il ST srgeRor F=a &
T &t frseef | ar || srgeRor Rt @
Faet Freed ] SrgeRoT Fwar &
dhae fAeme | SrgeRoT e @

Qe Ufth A 96 91d 9wl & Oa 7 A’ 'B' & Sie arf ok 8, wifehe ‘D' & Stk el sk B1'Q), A’ &
e ok 8, AT 'S Fag ok &1 T, Y F A R B, S 'D' & A€ AR 31 oA F B~ T Ao
8?

A
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Q.No: 83

o 0O W >

Q.No: 84

o 0O m >

Q.No: 85

o 0O m >

Q.No: 86

o 0O w >

Q.No: 87

o 0O o >

Q.No: 88

o 0O W >

Q.No: 89

24

Simi is older than Renu. Geeta is younger than Renu. Priya is older than Simi. Who is
the eldest of them?

Geeta
Simi
Priya

Renu

Which letter will replace the question mark (?) in the following series?
Y. XV,S,2.J
Q

o]
N
P

Daksh is taller than Manik but not as tall as Rohan. Somesh is shorter than Daksh but
taller than Farhan. Who among them is the shortest?

Daksh
Cannot be determined
Farhan

Manik

The digits of a two - digit number differ by six. Find the difference of the number and
the number formed by reversing its digits.

54
66
84
48

Find the smallest number of 6 digit which when divided by 3, 4, 5 and 6, gives
remainder 2?

100022
100034
100043
100002

Total cost of 3 tables and 2 chairs is Rs. 1300 and that of 2 tables and 3 chairs is
Rs. 1200. Find the cost of one chair.

Rs. 250
Rs. 150
Rs. 100
Rs. 200

Which of the following is divisible by 67
86512
22578
43132

GET IT ON

Google Play

Roft, @ = 81 e, [ ASKA G, B, el A afi i A S v smr v 82

i
el
et
"

i sjgen § & i @ s1gR [ (?) & =W W sTgm?
Y. XV,S,2,J
Q

o}
N
P

g1, Afe @ i 8, At g7 @ e A8 &1 W, 587 ¥ oier & A weeH § oar 81
T8 4 B Td BT 27

z8&

T ¢t R S werar
e

AT

I 37chl &Y TReAT & iRl A B I SR §1 Ik ST ot IeTet T T TeAT R T i SR T
HIfvg|

54

66

6 it T IE TIY BIE TEAT F1 A T 3, 4, 5 3R 6 T Ao o= W W 2 Taar @2

100022
100034
100043
100002

3 A offk 2 FRAa & gt 7w %.1300 & 3R 2 AT ofk 3 FHRAAT & gt 73w .1200 &1
Tk it ol R e SaTsd|

250 5.

150 %.

100%.

200 %.

Frfafes & & @ 6 @ R 82
86512
22578
43132
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Q.No: 9

o

O O w

Q.No: 91

o O w >

Q.No: 92

o 0O wm >

Q.No: 93

o 0O @ >

Q.No: 94

Q.No: 95

o O m >

Q.No: 96

24

34678

Which of the following is divisible by 4?
349870

237684

406882

6070602

The area of parallelogram is 70.98 sq.cm and the corresponding height is 7.8cm, find
the base of the parallelogram?

1941
9.1

101
mna

What is the greatest number that will divide 407 and 424 leaving remainders 4 and 8
respectively?

13
18
27
14

Simplify:

(6)°+(36)*x216 = 60"

4
7
6

-

8 — 2415 is equal to :
V5+V3
3-v5
5-v3
5-v3

What value would come in place of the question mark (?) in the following equation?

NV W NG

A sum of Rs.312 was divided among 100 boys and girls in such a way that each
boy gets Rs. 3.60 and each girl Rs.2.40. The number of girls is?

65

GET IT ON

Google Play

34678

e d a0 4 3 Rysa §2
349870

237684

406882

6070602

FHIGR TGSl o Ether 70,98 arf Auft & oiik Wit g 7.8 Tt 8, WHieR St T SMUR W1
Hifeg?

191
21

10.1
11

IE eI T T A R, [ 407 3R 424 &t il oAt wR Qw w4 8k 8 smgm?

13
18
27
14

ORI B

(6)° +(36)°x216 = 60

4
7
6
1
\ls—zmm%:.
V54+43
3—+v5
V5—+3
5-v3

et Tt A gsmEme &g (?) & M R 91 79 Sgm?

1 2 18 35
3-+2- +7--00-—<=—
7 "5 5 77 35 7

oW N>,

100 sTgeht 3R el & ofte 312 S0l 1 AR 59 aXg G fefSia &1 7€ off ok orcder ergh
&t 3.60 T 3R TAE TASH D 2.40 I04 e § | wrstenat B T 7

65
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Q.No: 97

W >

o O

Q.No: 98

o 0 W >

Q.No: 99

Q.No: 100
A

B
C
D

24

60
40
35
Simplify-
1175 x 1213

13317% X (14641)11/4

n
1

112

-1

Find the greatest possible length which can be used to measure exactly the lengths 4
m 95 cm,9 mand 16 m 65 cm.

47
49
M
45

The base area of a cuboid is 34 sq cm. and height is 3.5 cm. Find the volume of
cuboid.

GET IT ON

Google Play

60
40
35
T -
1175 x 1213

13317% X (14641)11/4

n
1

112

T g} Fig FaTE T R, et IuahT 4 ez 95 Fft, 9 Hiex ok 16 Hiex 65 At B
Y AR & g famam S weRar &1

47
49
41

45

T GFTH BT SR Sl 34 ot St &1 ok Sarg 3.5 St &1 a1 1 Smad I HifSg

108 cm? 108 =F
57 ¢cm? 97 =
125 cm? 125 =P
© MPESB. All rights reserved
119 em? 119 3=
Which of the following is divisible by 5 and 3? AfafEd & @ & 5 ok 3 @ frsa 82
7660 7660
3635 3635
2125 2125
6225 6225
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